KYUNGPOOK Math. J. 56(2016), 29-40 http://dx.doi.org/10.5666/KMJ.2016.56.1.29 pISSN 1225-6951 eISSN 0454-8124 © Kyungpook Mathematical Journal

## Forced Oscillation Criteria for Nonlinear Hyperbolic Equations via Riccati Method

YUTAKA SHOUKAKU

Faculty of Engineering, Kanazawa University, Kanazawa 920-1192, Japan e-mail: shoukaku@se.kanazawa-u.ac.jp

ABSTRACT. In this paper, we consider the nonlinear hyperbolic equations with forcing term. Some sufficient conditions for the oscillation are derived by using integral averaging method and a generalized Riccati technique.

#### 1. Introduction

We shall provide oscillation results of solution of the hyperbolic equation

(E) 
$$\frac{\partial}{\partial t} \left( r(t) \frac{\partial}{\partial t} u(x, t) \right) + p(t) \frac{\partial}{\partial t} u(x, t)$$
$$-a(t) \Delta u(x, t) - \sum_{i=1}^{k} b_i(t) \Delta u(x, \tau_i(t))$$
$$+ \sum_{i=1}^{m} q_i(x, t) \varphi_i(u(x, \sigma_i(t))) = f(x, t), \ (x, t) \in \Omega \equiv G \times (0, \infty),$$

where  $\Delta$  is the Laplacian in  $\mathbb{R}^n$  and G is a bounded domain of  $\mathbb{R}^n$  with piecewise smooth boundary  $\partial G$ . Recently, the oscillation of solution of hyperbolic equation via Riccati method has been investigated by many authors, see for example [2], [6], [7], In particular, Shoukaku [6] established the oscillation results of solution of the equation (E). In the work of [6], restriction is imposed on forcing term f(x, t) to be oscillatory function.

Gaef and Spikes [3], Wong and Agarwal [8], Li [4] and Agawal, et al [1] obtained several oscillation results for second order nonlinear differential equations. Their results used the different assumption of forcing term from the work of [6].

Motivated by the work of [1], in this paper we will obtain the oscillation results

Key words and phrases: Forced oscillation, hyperbolic equations, Riccati inequality, interval criteria.



Received November 12, 2012; accepted February 6, 2016.

<sup>2010</sup> Mathematics Subject Classification: 34K11, 35B05, 35R10.

of the hyperbolic equation (E), and remove the assumption of the forcing term such as the work [6].

We assume throughout this paper that:

- (H1)  $r(t) \in C^{1}([0,\infty); (0,\infty)), \ p(t) \in C([0,\infty); \mathbb{R}),$   $a(t), \ b_{i}(t) \in C([0,\infty); [0,\infty)) \ (i = 1, 2, \dots, k),$  $q_{i}(x,t) \in C(\overline{\Omega}; [0,\infty)) \ (i = 1, 2, \dots, m), \ f(x,t) \in C(\overline{\Omega}; \mathbb{R});$
- (H2)  $\tau_i(t) \in C([0,\infty); \mathbb{R}), \lim_{t \to \infty} \tau_i(t) = \infty \ (i = 1, 2, \dots, k),$  $\sigma_i(t) \in C^1([0,\infty); \mathbb{R}), \lim_{t \to \infty} \sigma_i(t) = \infty \ (i = 1, 2, \dots, m);$
- (H3)  $\varphi_i(s) \in C^1(\mathbb{R};\mathbb{R}) \ (i = 1, 2, ..., m)$  are convex on  $[0, \infty)$ , and  $\varphi_i(s) \ge 0$  and  $\varphi_i(-s) = -\varphi_i(s)$  for  $s \ge 0$ .

We consider the following Dirichlet and Robin boundary boundary conditions

(B1) 
$$u = \psi$$
 on  $\partial G \times [0, \infty),$ 

(B2) 
$$\frac{\partial u}{\partial \nu} + \mu u = \tilde{\psi}$$
 on  $\partial G \times [0, \infty),$ 

where  $\nu$  denotes the unit exterior normal vector to  $\partial G$  and  $\psi, \tilde{\psi} \in C(\partial G \times (0, \infty); \mathbb{R}), \mu \in C(\partial G \times (0, \infty); [0, \infty)).$ 

**Definition 1.** By a solution of Eq. (E) we mean a function  $u \in C^2(\overline{G} \times [t_{-1}, \infty)) \cap C(\overline{G} \times [\tilde{t}_{-1}, \infty))$  which satisfies (E), where

$$t_{-1} = \min\left\{0, \min_{1 \le i \le k} \left\{\inf_{t \ge 0} \tau_i(t)\right\}\right\}, \quad \tilde{t}_{-1} = \min\left\{0, \min_{1 \le i \le m} \left\{\inf_{t \ge 0} \sigma_i(t)\right\}\right\}.$$

**Definition 2.** A solution u of Eq. (E) is said to be *oscillatory* in  $\Omega$  if u has a zero in  $G \times (t, \infty)$  for any t > 0. That is, there exists a point  $t_1 > t$  such that  $u(x, t_1) = 0$ .

**Definition 3.** We say that functions  $H_1, H_2$  belong to a function class  $\mathbb{H}$ , denoted by  $H_1, H_2 \in \mathbb{H}$ , if  $H_1, H_2 \in C(D; [0, \infty))$  satisfy

$$H_i(t,t) = 0, \ H_i(t,s) > 0 \ (i = 1,2) \text{ for } t > s,$$

where  $D = \{(t,s) : 0 < s \leq t < \infty\}$ . Moreover, the partial derivatives  $\partial H_1 / \partial t$  and  $\partial H_2 / \partial s$  exist on D such that

$$\frac{\partial H_1}{\partial t}(s,t) = h_1(s,t)H_1(s,t) \quad \text{and} \quad \frac{\partial H_2}{\partial s}(t,s) = -h_2(t,s)H_2(t,s),$$

where  $h_1, h_2 \in C_{loc}(D; \mathbb{R})$ .

## 2. Reduction to One-Dimensional Problems

In this section we reduce the multi-dimensional oscillation problems for (E) to

one-dimensional oscillation problems. It is known that the first eigenvalue  $\lambda_1$  of the eigenvalue problem

$$-\Delta w = \lambda w \quad \text{in} \quad G,$$
$$w = 0 \quad \text{on} \quad \partial G$$

is positive, and the corresponding eigenfunction  $\Phi(x)$  can be chosen so that  $\Phi(x) > 0$ in G. Now we define

$$q_i(t) = \min_{x \in \overline{G}} q_i(x, t).$$

The following notation will be used:

$$U(t) = K_{\Phi} \int_{G} u(x,t)\Phi(x)dx, \quad \tilde{U}(t) = \frac{1}{|G|} \int_{\partial G} u(x,t)dx,$$
  

$$F(t) = K_{\Phi} \int_{G} f(x,t)\Phi(x)dx, \quad \tilde{F}(t) = \frac{1}{|G|} \int_{\partial G} f(x,t)dx,$$
  

$$\Psi(t) = K_{\Phi} \int_{\partial G} \psi \frac{\partial \Phi}{\partial \nu}(x)dS, \quad \tilde{\Psi}(t) = \frac{1}{|G|} \int_{\partial G} \tilde{\psi}dS,$$

where  $K_{\Phi} = (\int_G \Phi(x) dx)^{-1}$  and  $|G| = \int_G dx$ .

**Theorem 1.** If every eventually positive solution y(t) of the functional differential inequalities

(1) 
$$(r(t)y'(t))' + p(t)y'(t) + \sum_{i=1}^{m} q_i(t)\varphi_i(y(\sigma_i(t))) \le \pm G(t)$$

satisfies  $\liminf_{t\to\infty} y(t) = 0$ , then every solution u(x,t) of the problem (E), (B1) is oscillatory in  $\Omega$  or sastifies

(2) 
$$\liminf_{t \to \infty} |U(t)| = 0,$$

where

$$G(t) = F(t) - a(t)\Psi(t) - \sum_{i=1}^{k} b_i(\tau_i(t))\Psi(\tau_i(t)).$$

*Proof.* Suppose to the contrary that there is a nonoscillatory solution u of the problem (E), (B1) which does not satisfy (2). Without loss of generality we may assume that u(x,t) > 0 in  $G \times [t_0,\infty)$  for some  $t_0 > 0$  because the case where u(x,t) < 0 can be treated similarly. Since (H2) holds, we see that  $u(x,\tau_i(t)) > 0$  (i = 1, 2, ..., k) and  $u(x, \sigma_i(t)) > 0$  (i = 1, 2, ..., m) in  $G \times [t_1, \infty)$  for some

 $t_1 \ge t_0$ . Multiplying (E) by  $K_{\Phi}\Phi(x)$  and integrating over G, we obtain

(3) 
$$(r(t)U'(t))' + p(t)U'(t)$$
$$-a(t)K_{\Phi} \int_{G} \Delta u(x,t)\Phi(x)dx - \sum_{i=1}^{k} b_{i}(t)K_{\Phi} \int_{G} \Delta u(x,\tau_{i}(t))\Phi(x)dx$$
$$+ \sum_{i=1}^{m} K_{\Phi} \int_{G} q_{i}(x,t)\varphi_{i}(u(x,\sigma_{i}(t)))\Phi(x)dx = F(t), \ t \ge t_{1}.$$

From Green's formula it follows that

(4) 
$$K_{\Phi} \int_{G} \Delta u(x,t) \Phi(x) dx \leq -\Psi(t), \ t \geq t_{1},$$

(5) 
$$K_{\Phi} \int_{G} \Delta u(x, \tau_{i}(t)) \Phi(x) dx \leq -\Psi(\tau_{i}(t)), \ t \geq t_{1}.$$

An application of Jensen's inequality shows that

(6) 
$$\sum_{i=1}^{m} K_{\Phi} \int_{G} q_i(x,t)\varphi_i(u(x,\sigma_i(t)))\Phi(x)dx \ge \sum_{i=1}^{m} q_i(t)\varphi_i(U(\sigma_i(t))), \ t \ge t_1.$$

Combining (3)-(6) yields

$$(r(t)U'(t))' + p(t)U'(t) + \sum_{i=1}^{m} q_i(t)\varphi_i(U(\sigma_i(t))) \le G(t), \ t \ge t_1.$$

Therefore U(t) is a positive solution of (1) which does not satisfy (2). This contradicts the hypothesis and completes the proof.

**Theorem 2.** If every eventually positive solution y(t) of the functional differential inequalities

(7) 
$$(r(t)y'(t))' + p(t)y'(t) + \sum_{i=1}^{m} q_i(t)\varphi_i(y(\sigma_i(t))) \le \pm \tilde{G}(t)$$

satisfies  $\liminf_{t\to\infty} y(t) = 0$ , then every solution u(x,t) of the problem (E), (B2) is oscillatory in  $\Omega$  or satisfies

(8) 
$$\liminf_{t \to \infty} |\tilde{U}(t)| = 0,$$

where

$$\tilde{G}(t) = \tilde{F}(t) + a(t)\tilde{\Psi}(t) + \sum_{i=1}^{k} b_i(\tau_i(t))\tilde{\Psi}(\tau_i(t)).$$

*Proof.* Suppose to the contrary that there is a nonoscillatory solution u of problem (E), (B2) which does not satisfy (8). Without loss of generality we may assume that u(x,t) > 0 in  $G \times [t_0,\infty)$  for some  $t_0 > 0$ . Since (H2) holds, we see that  $u(x,\tau_i(t)) > 0$  (i = 1, 2, ..., k) and  $u(x,\sigma_i(t)) > 0$  (i = 1, 2, ..., m) in  $G \times [t_1,\infty)$  for some  $t_1 \ge t_0$ . Dividing (E) by |G| and integrating over G, we obtain

(9) 
$$(r(t)\tilde{U}'(t))' + p(t)\tilde{U}'(t) - \frac{a(t)}{|G|} \int_{G} \Delta u(x,t) dx - \sum_{i=1}^{k} \frac{b_i(t)}{|G|} \int_{G} \Delta u(x,\tau_i(t)) dx + \frac{1}{|G|} \sum_{i=1}^{m} \int_{G} q_i(x,t) \varphi_i(u(x,\sigma_i(t))) dx = \tilde{F}(t), \ t \ge t_1$$

It follows from Green's formula that

(10) 
$$\frac{1}{|G|} \int_{G} \Delta u(x,t) dx \le \tilde{\Psi}(t), \ t \ge t_1,$$

(11) 
$$\frac{1}{|G|} \int_{G} \Delta u(x, \tau_i(t)) dx \le \tilde{\Psi}(\tau_i(t)), \ t \ge t_1.$$

Applying Jensen's inequality, we observe that

~

(12) 
$$\frac{1}{|G|} \sum_{i=1}^m \int_G q_i(x,t)\varphi_i(u(x,\sigma_i(t)))dx \ge \sum_{i=1}^m q_i(t)\varphi_i(\tilde{U}(\sigma_i(t))), \ t \ge t_1.$$

Combining (9)-(12) yields

$$(r(t)\tilde{U}'(t))' + p(t)\tilde{U}'(t) + \sum_{i=1}^{m} q_i(t)\varphi_i(\tilde{U}(\sigma_i(t))) \le \tilde{G}(t), \ t \ge t_1.$$

Hence,  $\tilde{U}(t)$  is a positive solution of (7) which does not satisfy (8). This contradicts the hypothesis and completes the proof.

## 3. Second Order Functional Differential Inequality

We obtain the sufficient conditions for every positive solution y(t) of the functional differential inequality

(13) 
$$(r(t)y'(t))' + p(t)y'(t) + \sum_{i=1}^{m} q_i(t)\varphi_i(y(\sigma_i(t))) \le f(t)$$

to satisfy  $\liminf_{t\to\infty} y(t) = 0$ , where  $f(t) \in C([0,\infty);\mathbb{R})$ . We assume the following hypotheses:

(H4)  $\varphi'_j(t) > 0, \varphi'_j(t)$  is nondecreasing for t > 0 and some  $j \in \{1, 2, \dots, m\}$ ;

(H5) there exists a positive constant  $\sigma$  such that

$$\sigma'_i(t) \ge \sigma \quad \text{and} \quad \sigma_j(t) \le t;$$

(H6) there exists a positive constant K such that

$$q_j(t) \ge K|f(t)|.$$

**Theorem 3.** If the Riccati inequalities for i = 1, 2

(14) 
$$x'(t) + \frac{1}{2} \frac{1}{p_i(t)} x^2(t) \le -q(t)$$

have no solution on  $[T, \infty)$  for all large T, then eventually positive solution of (13) satisfies  $\liminf_{t\to\infty} y(t) = 0$ , where

$$p_1(t) = \tilde{K}e^{R(t)}, \ p_2(t) = p_1(\sigma_j(t)), \ R(t) = \log r(t) + \int_{t_0}^t \frac{p(s)}{r(s)} ds,$$
$$q(t) = \frac{e^{R(t)}}{r(t)} \{q_j(t) - K|f(t)|\}$$

for every positive constant  $\tilde{K}$ .

*Proof.* Suppose that y(t) is an eventually positive solution of (13) on  $[t_0, \infty)$  for some  $t_0 > 0$ , and  $\liminf_{t \to \infty} y(t) > 0$ . Hence, there exists  $k_1 > 0$  such that  $y(t) \ge k_1$ ,  $t \ge t_1$  for some  $t_1 \ge t_0$ . It follows from (13) that

(15) 
$$\left(e^{R(t)}y'(t)\right)' + q_j(t)\frac{e^{R(t)}}{r(t)}\varphi_j(y(\sigma_j(t))) \le \frac{e^{R(t)}}{r(t)}f(t), \ t \ge t_1.$$

Since  $\varphi_j(y(\sigma_j(t))) > \varphi_j(k_1) \equiv K_1, t \ge t_2$  for some  $t_2 \ge t_1$ , we can see from (H6) that

(16) 
$$\left(e^{R(t)}y'(t)\right)' \leq -\frac{e^{R(t)}}{r(t)}\left\{K_1q_j(t) - |f(t)|\right\} \leq 0, \ t \geq t_2.$$

Then we consider y'(t) < 0 or  $y'(t) \ge 0$  for  $t \ge t_2$ . Case 1. y'(t) < 0 for  $t \ge t_2$ . Setting

$$z(t) = \frac{e^{R(t)}y'(t)}{\varphi_j(y(t))},$$

34

then

$$(17) \ z'(t) = \frac{(e^{R(t)}y'(t))'}{\varphi_{j}(y(t))} - e^{R(t)}y'(t)\frac{y'(t)\varphi_{j}'(y(t))}{\varphi_{j}^{2}(y(t))}$$

$$\leq -q_{j}(t)\frac{e^{R(t)}}{r(t)}\frac{\varphi_{j}(y(\sigma_{j}(t)))}{\varphi_{j}(y(t))} + \frac{e^{R(t)}|f(t)|}{r(t)\varphi_{j}(y(t))} - e^{-R(t)}\varphi_{j}'(y(t))z^{2}(t)$$

$$\leq -q_{j}(t)\frac{e^{R(t)}}{r(t)} + \frac{e^{R(t)}|f(t)|}{r(t)\varphi_{j}(k_{1})} - e^{-R(t)}\varphi_{j}'(k_{1})z^{2}(t)$$

$$\leq -\frac{e^{R(t)}}{r(t)}\left\{q_{j}(t) - \frac{|f(t)|}{K_{1}}\right\} - e^{-R(t)}\varphi_{j}'(k_{1})z^{2}(t)$$

which contradicts the fact that z(t) is negative solution of (14). <u>Case 2.</u>  $y'(t) \ge 0$  for  $t \ge t_2$ . Since y(t) > 0,  $y'(t) \ge 0$  eventually, we see that  $y(\sigma_j(t)) \ge k_1$  for some  $k_1 > 0$ . Let

$$w(t) = \frac{e^{R(t)}y'(t)}{\varphi_j(y(\sigma_j(t)))}.$$

By using  $e^{R(t)}y'(t)$  is nonincreasing, we have

$$(18) w'(t) = \frac{(e^{R(t)}y'(t))'}{\varphi_j(y(\sigma_j(t)))} - e^{R(t)}y'(t)\frac{\sigma_j'(t)y'(\sigma_j(t))\varphi_j'(y(\sigma_j(t)))}{\varphi_j^2(y(\sigma_j(t)))} \\ \leq -q_j(t)\frac{e^{R(t)}}{r(t)} + \frac{e^{R(t)}|f(t)|}{r(t)\varphi_j(y(\sigma_j(t)))} \\ -e^{-R(\sigma_j(t))}\varphi_j'(y(\sigma_j(t)))\sigma_j'(t)w^2(t) \\ \leq -\frac{e^{R(t)}}{r(t)} \Big\{ q_j(t) - \frac{|f(t)|}{\varphi_j(k_1)} \Big\} \\ -e^{-R(\sigma_j(t))}\varphi_j'(k_1)\sigma w^2(t), \ t \ge t_2.$$

Therefore w(t) is a positive solution of (14). This contradicts the hypothesis and completes the proof.

**Theorem 4.** If for some  $T \ge 0$  and for i = 1, 2, there exist  $H_1, H_2 \in \mathbb{H}$  and some  $c \in (a, b)$  such that  $T \le a < b$  and

(19) 
$$\frac{1}{H_1(c,a)} \int_a^c H_1(s,a) \left\{ q(s) - \frac{1}{2} \lambda_1^2(s,a) p_i(s) \right\} \phi(s) ds \\ + \frac{1}{H_2(b,c)} \int_c^b H_2(b,s) \left\{ q(s) - \frac{1}{2} \lambda_2^2(b,s) p_i(s) \right\} \phi(s) ds > 0,$$

then eventually positive solution of (13) satisfies  $\liminf_{t\to\infty} y(t) = 0$ , where  $\phi(t) \in C^1((T,\infty);(0,\infty))$  and

$$\lambda_1(s,t) = \frac{\phi'(s)}{\phi(s)} + h_1(s,t), \quad \lambda_2(t,s) = \frac{\phi'(s)}{\phi(s)} - h_2(t,s).$$

*Proof.* Suppose that y(t) is a positive solution of (13) on  $[t_0, \infty)$  for some  $t_0 > 0$ , and  $\liminf_{t\to\infty} y(t) > 0$ . At first, we assume that y(t) > 0 on (a, b) for  $a, b \ge t_0$ . Proceeding as the same proof of Theorem 3, we have the inequality (14). Multiplying (14) by  $H_2(t, s)$  and  $\phi(s)$ , integrating over [c, t] for  $t \in [c, b)$  and letting  $t \to b^-$ , we see easily that

(20) 
$$\frac{1}{H_2(b,c)} \int_c^b H_2(b,s) \left\{ q(s) - \frac{1}{2} \lambda_2^2(b,s) p_i(s) \right\} \phi(s) ds \le x(c) \phi(c)$$

Similarly, multiplying (14) by  $H_1(s,t)$  and  $\phi(s)$ , integrating over [t,c] for  $t \in (a,b]$ and letting  $t \to a^+$ , we have

(21) 
$$\frac{1}{H_1(c,a)} \int_a^c H_1(s,a) \left\{ q(s) - \frac{1}{2} \lambda_1^2(s,a) p_i(s) \right\} \phi(s) ds \le -x(c) \phi(c).$$

Adding (20) and (21), we can lead to the contradiction. Pick up a sequence  $\{T_i\} \subset [t_0, \infty)$  such that  $T_i \to \infty$  as  $i \to \infty$ . By assumptions, for each  $i \in \mathbb{N}$ , there exists  $a_i, b_i, c_i \in [0, \infty)$  such that  $T_i \leq a_i < c_i < b_i$ , and (19) holds with a, b, c replaced by  $a_i, b_i, c_i$ , respectively. From that, every nontrivial solution y(t) of (13) has no zero  $t_i \in (a_i, b_i)$ . Noting that  $t_i > a_i \geq T_i, i \in \mathbb{N}$ , we see that y(t) is a eventually positive solution of (13). This contradiction proves that Theorem 4 holds.  $\Box$ 

**Theorem 5.** For some functions  $H_1, H_2 \in \mathbb{H}$ , each  $T \ge 0$  and for i = 1, 2, if

(22) 
$$\limsup_{t \to \infty} \int_T^t H_1(s,T) \left\{ q(s) - \frac{1}{2} \lambda_1^2(s,T) p_i(s) \right\} \phi(s) ds > 0$$

and

(23) 
$$\limsup_{t \to \infty} \int_T^t H_2(t,s) \left\{ q(s) - \frac{1}{2}\lambda_2^2(t,s)p_i(s) \right\} \phi(s)ds > 0,$$

then eventually positive solution of (13) satisfies  $\liminf_{t\to\infty} y(t) = 0$ , where  $\phi(t) \in C^1((T_0,\infty);(0,\infty))$  for some  $T_0 > 0$ .

*Proof.* For any  $T \ge t_0$ , let a = T. In (22) we choose T = a. Then there exists c > a such that for  $t \in (a, c]$ 

(24) 
$$\int_{a}^{c} H_{1}(s,a) \left\{ q(s) - \frac{1}{2} \lambda_{1}^{2}(s,a) p_{i}(s) \right\} \phi(s) ds > 0$$

(cf. [9, Theorem 8.8.5]). In (23) we choose T=c. Then there exists b>c such that for  $t\in [c,b)$ 

(25) 
$$\int_{c}^{b} H_{2}(b,s) \left\{ q(s) - \frac{1}{2}\lambda_{2}^{2}(b,s)p_{i}(s) \right\} \phi(s)ds > 0.$$

Combining (22) and (23) we obtain (19). The conclusion come from Theorem 4, and the proof is completed.  $\hfill \Box$ 

#### 4. Oscillation Criteria for Eq. (E)

#### 4.1. Oscillation results by Riccati inequality

We are going to use the following lemma which is due to Usami [5].

**Lemma.** If there exists a function  $\phi(t) \in C^1([T_0, \infty); (0, \infty))$  such that

$$\begin{split} \int_{T_1}^{\infty} \left(\frac{\bar{p}(t)|\phi'(t)|^{\beta}}{\phi(t)}\right)^{\frac{1}{\beta-1}} dt < \infty, \ \int_{T_1}^{\infty} \frac{1}{\bar{p}(t)(\phi(t))^{\beta-1}} dt = \infty, \\ \int_{T_1}^{\infty} \phi(t)\bar{q}(t) dt = \infty \end{split}$$

for some  $T_1 \geq T_0$ , then the Riccati inequality

$$x'(t) + \frac{1}{\beta} \frac{1}{\bar{p}(t)} |x(t)|^{\beta} \le -\bar{q}(t),$$

where  $\beta > 1$ ,  $\bar{p}(t) \in C([T_0, \infty); (0, \infty))$  and  $\bar{q}(t) \in C([T_0, \infty); \mathbb{R})$ , has no solution on  $[T, \infty)$  for all large T.

Combining Theorems 1-3, we obtain following theorems.

Theorem 6. Assume that (H1)-(H5) hold, and that

(H7) there exists a positive constant K such that

$$q_j(t) \ge K|G(t)|.$$

If for i = 1, 2,

$$\begin{split} \int_{T_1}^{\infty} \left( \frac{p_i(t)\phi'(t)^2}{\phi(t)} \right) dt &< \infty, \quad \int_{T_1}^{\infty} \frac{1}{p_i(t)\phi(t)} dt = \infty, \\ \int_{T_1}^{\infty} \phi(t)Q(t)dt &= \infty, \end{split}$$

then every solution u(x,t) of (E), (B1) is oscillatory in  $\Omega$  or satisfies (2), where

$$Q(t) = \frac{e^{R(t)}}{r(t)} \Big\{ q_j(t) - K |G(t)| \Big\}.$$

Theorem 7. Assume that (H1)-(H5) hold, and that

(H8) there exists a positive constant K such that

$$q_j(t) \ge K|G(t)|.$$

If for i = 1, 2,

$$\begin{split} \int_{T_1}^{\infty} \left( \frac{p_i(t)\phi'(t)^2}{\phi(t)} \right) dt &< \infty, \quad \int_{T_1}^{\infty} \frac{1}{p_i(t)\phi(t)} dt = \infty, \\ \int_{T_1}^{\infty} \phi(t) \tilde{Q}(t) dt &= \infty, \end{split}$$

then every solution u(x,t) of (E), (B2) is oscillatory in  $\Omega$  or satisfies (8), where

$$\tilde{Q}(t) = \frac{e^{R(t)}}{r(t)} \Big\{ q_j(t) - K |\tilde{G}(t)| \Big\}.$$

**Example 1.** We consider the problem

(26) 
$$\frac{\partial}{\partial t} \left( e^t \frac{\partial}{\partial t} u(x,t) \right) + e^t \frac{\partial}{\partial t} u(x,t) - \left( e^t + e^{\frac{t}{2}} \right) \Delta u(x,t) + 2e^t u \left( x, t - \frac{\pi}{2} \right) = e^{\frac{t}{2}} \sin x \sin t, \ (x,t) \in (0,\pi) \times (0,\infty),$$

(27) 
$$u(0,t) = u(\pi,t) = 0, t > 0.$$

Here n = k = m = 1  $r(t) = e^t$ ,  $p_1(t) = e^{2t}$ ,  $p_2(t) = e^{2t-\pi/2}$ ,  $q_1(x,t) = 2e^t$ ,  $\sigma_1(t) = t - \pi/2$  and  $f(x,t) = e^t \sin x \sin t$ . It is easily verified that  $\Phi(x) = \sin x$  and

$$q_1(t) \equiv 2e^t \ge \frac{\pi}{4} |e^{\frac{t}{2}} \sin t| \equiv |G(t)|.$$

By choosing  $\phi(t) = e^{-3t}$ , the conditions of Theorem 6 are satisfied. Therefore, we conclude that every solution u of the problem (26), (27) is oscillatory in  $(0, \pi) \times (0, \infty)$  or satisfies (2). For example,  $u = \sin x \sin t$  is such a solution.

Example 2. Consider the problem

(28) 
$$\frac{\partial}{\partial t} \left( e^{-t} \frac{\partial}{\partial t} u(x,t) \right) + 2e^{-t} \frac{\partial}{\partial t} u(x,t) - \Delta u(x,t) + e^{\frac{t}{2}} u\left(x,\frac{t}{2}\right) = \left(e^{-t}+1\right) \cos x, \ (x,t) \in \left(0,\frac{\pi}{2}\right) \times (0,\infty),$$
(29) 
$$-u_x(0,t) = 0, \quad u_x\left(\frac{\pi}{2},t\right) = -e^{-t}, \ t > 0.$$

Here n = k = m = 1  $r(t) = e^{-t}$ ,  $p_1(t) = e^t$ ,  $p_2(t) = e^{t/2}$ ,  $q_1(x,t) = 2e^{-t}$ , a(t) = 1,  $\sigma_1(t) = t/2$  and  $f(x,t) = (e^{-t} + 1) \cos x$ . A simple calculation yields  $\tilde{G}(t) = 2/\pi$  and

$$q_1(t) \equiv e^{\frac{t}{2}} \ge \frac{2}{\pi} \equiv |\tilde{G}|.$$

By choosing  $\phi(t) = e^{-\frac{3}{2}t}$  we note that the conditions of Theorem 7 holds. Therefore, every solution u of the problem (28), (29) is oscillatory in  $(0, \pi) \times (0, \infty)$  or satisfies

38

(8). For example,  $u = e^{-t} \cos x$  is such a solution.

#### 4.2. Interval oscillation results

Combining Theorems 1–2 and 4, we have following theorems.

**Theorem 8.** Assume that (H1)–(H5) and that (H7) hold. If for some  $T \ge 0$  and for i = 1, 2, there exist  $H_1, H_2 \in \mathbb{H}$  and some  $c \in (a, b)$  such that  $T \le a < b$ , (19) with q(s) replaced by Q(s), then every solution u(x, t) of (E), (B1) is oscillatory in  $\Omega$  or satisfies (2).

**Theorem 9.** Assume that (H1)–(H5) and (H8) hold. If for some  $T \ge 0$  and for i = 1, 2, there exist  $H_1, H_2 \in \mathbb{H}$  and some  $c \in (a, b)$  such that  $T \le a < b$ , (19) with q(s) replaced by  $\tilde{Q}(s)$ , then every solution u(x, t) of (E), (B2) is oscillatory in  $\Omega$  or satisfies (8).

Combining Theorems 1–2 and 5, we obtain two theorems.

**Theorem 10.** Assume that (H1)–(H5) and (H7) hold. For some functions  $H_1, H_2 \in \mathbb{H}$ , some  $T \geq 0$  and for i = 1, 2, if (22) and (23) with q(s) replaced by Q(s) hold, then every solution u(x,t) of (E), (B1) is oscillatory in  $\Omega$  or satisfies (2).

**Theorem 11.** Assume that (H1)–(H5) and (H8) hold. For some functions  $H_1, H_2 \in \mathbb{H}$ , some  $T \geq 0$  and for i = 1, 2, if (22) and (23) with q(s) replaced by  $\tilde{Q}(s)$  hold, then every solution u(x,t) of (E), (B2) is oscillatory in  $\Omega$  or satisfies (8).

**Remark.** Our results in this paper hold without the hypotheses (H5) and (H6), if condition  $\sigma_i(t) = t$  satisfied.

Acknowledgement. The author is grateful to Professor N. Yoshida for his variable suggestions on the first draft of this paper. The author would like to express his great appreciation to the referee for their careful reading of my manuscript and for their helpful suggestions.

# References

- R. P. Agarwal, M. Bohner and W. T. Li, Nonoscillation and oscillation: Theory for Functional Differential Equations, Marcel Dekker, New York, 2004.
- [2] S. Cui, Z. Xu, Interval oscillation theorems for second order nonlinear partial delay differential equations, Differ. Equ. Appl., 1(2009), 379–391.
- [3] J. R. Graef and P. W. Spikes, On the oscillatory behavior of solutions of second order nonlinear differential equations, Czechoslovak Math. J., 36(1986), 275–284.
- [4] W. T. Li and X. Li, Oscillation criteria for second-order nonlinear differential equations with integrable coefficient, Appl. Math. Lett., 13(2000), 1–6.

- [5] H. Usami, Some oscillation theorem for a class of quasilinear elliptic equations, Ann. Mat. Pura Appl., 175(1998), 277–283.
- [6] Y. Shoukaku, Forced oscillations of nonlinear hyperbolic equations with functional arguments via Riccati method, Appl. Appl. Math., 1(2010), 122–153.
- [7] Y. Shoukaku and N. Yoshida, Oscillations of nonlinear hyperbolic equations with functional arguments via Riccati method, Appl. Math. Comput., 217(2010), 143–151.
- [8] P. J. Y. Wong and R. P. Agarwal, Oscillatory behavior of solutions of certain second order nonlinear differential equations, J. Math. Anal. Appl., 198(1996), 337–354.
- [9] N. Yoshida, Oscillation Theory of Partial Differential Equations, World Scientific Publishing Co. Pte. Ltd., 2008.